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A -3 -H2A(SH) - HEAMY - BES O AF K %Eﬁiﬁ Hlws2

201 S 2 Tt 599,635 591,765 7,870
= 162,176
< 51,544
= 385,915

HASE MEBOHY X2 (ASISX/IZMEDE) 599,635 581,965 17,670
= 162, 176
= 51,544
= 385,915

JBZHAL (B 202 SEa) 509,635 581,965 17,670
= 162, 176
= 51,544
2 385,915

220 YREX AIZHHY| 11,000 11,000 0
= 11,000

201 ety 5,500 5,500 0
= 5,500

01 AR 2telt 5,500 5,500 0
OZH XA 5,500
— Yt 4,380,000 4,380
< 4,380
—egay 1,120,0002! 1,120
= 1,120

202 04| 5,500 5,500 0
< 5,500

01 2UHoiH| 5,500 5,500 0
OZH XA 5,500
—9 220 AlE el X =0l 3,120,000 3,120
< 3,120
—2e IURABK K& 2,320,000€! 2,320
< 2,320
—9 220 Aol FA 60,0002 60
= 60

JgEZ0 HI20HIS XY 176,500 169,511 6,989
= 141,200
[ 35,300

307 BI20IH 176,500 169,511 6,989
= 141,200
< 35,300

01 Sgxnat| 176,500 169,511 6,989
O2HI2XAIY 176,500
—9 220 #3204l N 176,000,000 176,000
= 140,800
= 35,200
-tE2 500,000 500
= 400
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CHol: SBZOIAIY (BB 0II2 SE3IH) (crel: @
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SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
| < 100
o2 Z0HISK 412,135 401,454 10,681
= 20,976
= 5,244
= 385,915
101 2124t 26,220 25,454 766
= 20,976
3 5,244
04 JIZH2ERSE 26,220 25,454 766
O=RHIBEAY 26,220
—o|2 30 A2l BelA Q12 26,220,0002 26,220
= 20,976
= 5,244
308 AHXIEHHISOIH 385,915 376,000 9,915
05 XXISHAASE S 385,915 376,000 9,915
O2z30 AEHl 22 382,734,002 382,734
OAZZN ALMBLNH 2
3,181,0002 3,181




